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BE 2 BRRAEREIEHSZ 70 —A 0T T A

<html>
<head>
<title>Diabetic Vascular Complication Simulator 2</title>
</head>
<body>
<script language="cache" runat="server">
s baser=0.42,basea=0.176, riskr=baser, riska=basea
s r2=+5g{%request.Data("r02",1))
i rz=1 {
8 riskr=riskr*(1-0.4)
s riska=riska* (1-0.32}

r02c0=5s(r2=0:"checked",1:"")}
r02cl=58s(r2=1:"checked”,1:"")
r3=+Sg(%request.Data("r03", 1))
r3=1 {

s riskr=riskr*(1-0.1)

8 riska=riska*{(1-0.08)

H-W @ W~

r03c¢0=5s({r3=0:"checked",1:"")
r03cl=$s(r3=1:"checked",1:"")
r4=+$g{¥request.Data{"r04", 1))
rd=1 {

s riskr=riskr* (1-0.3)

8 riska=riska* (1-0.28)

H-w w ow—

r04c0=38s{rd4=0:"checked",1:"")
r04ci=$s (rd=1:"checked"”,1:"")
rl=+$g{%request.Data("rll", 1))
rl=1 {

s riskr=baser*(1-0.2)

3 riskas=basea*{1-0.16)

=W wu 3 —

r0lc0=$s (r1=0:"checked",1:"")
r0lecl=$s (rl=1:"checked",1:""})
rS=+§g(%request.Data("c05",1})
r5=1 {

s riskr=riskr*(1-0)

3 riska=riska*(1-0.44)

H-ta b W~

r35c0=$s{r5=0:"checked"”,1:""}

r05cl=$s(r5=1:"checked”,1:"")

ré=+3g{%request.Data{"r0s6", 1))
re=0 {

8 riskr=riskr/{1-0.44)

8 riska=riska/(1-0.35)

-t ow—

r06c0=$s (r6=0:"checked",1:"")
r06cl=3s (r6=1:"checked",1:""™)
r7=+$g(%request.Data("r07",1))
£7=1 {
s riskr=riskr*(1-0.36}
s riska=riska* (1-0.40)

}

s r07c0=3s(r7=0:"checked",1:""}
s r07cl=$s(r7=1:"checked"”,1:""}
</script>
<form name="diabl" action="d3a.csp" method="post">

<h2>BERFHEHIRE., REEREFMES I = L —F </h2>
<p> BERFOEHRO AT L HMPYE & LM EHEOMMBELHALZ T,

- oW —
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<table border=1>

<tr>

<td>MmiE= pr—/</td>

<td><input type="radio” name="r0l"

value="0" #(r01cO)#>LLT® 3 HHE D#E{</td>

<td><input type="radio"” name="r01" value="1" #(r0lcl)#>F{L#FiE</td>

</tr>
<tr>
<td>
<td>
<td>
</tr>
<tr>
<td>
<td>
<td>
</tr>
<tr>
<td>
<td>
<td>
</re>
<tr>

~RERIE</ td>
<input type="radio"
<input type="radio"

BB </ td>
<input type="radio"
<input type="radio"

_EWPrE</td>
<input type="radio"
<input type="radio"

<td>T ALY r</td>

<td><input type="radio"
<td><input type="radio"

</tr>
<tr>

<td>Ef</td>

<td><input type="radio"
<td><input type="radio"

</tr>
<tr>

<td>ffF T ba—i</td>

<td><input type="radio"
<td><input type="radio"

</tr>

</table>

<p><input type="submit" name="bl" value="HH&E1">

<table border>

<tr>

<th rowspan="2"> </th>
<th colspan="2">BRMFRIEEBE</ th>
<th colspan="2">DHEES<br>AMEFEF</ch>

</tr>
<tr>

name="r@5"
name="r05"

name="rQ0&"
name="rQg"

name="rg7"
name="rQ7"

name="rQz2"
name="r02"

name="r03"
name="r03"

name="r04"
name="r04"

value="0"
value="1"

value="0Q"
value="1"

value="0"
value="1"

value="0"
value="1"

value="0"
value="1"

value="0"
value="1"

<script lanquage="cache" runat="server">
5 a=1-({l-riskr)**0.3)*1000¥1/10
s b=riskr*1000¥1/10
</acript>

<td align="center"><b>3 FE&k</b> #{3j{a,5,1)) #¥</td>

<td align="center"><b>10 Ef&</b> #(3$j(b,5,1)) #%</td>
<script language="cache" runat="server">
5 a=1-({l-riska)**0.3)*1000¥1/10
s b=riska*1000¥1/10
</acript>

<td align="center"><b>3 Ffk</b> ¥#(5j{a,5,1)) #¥</td>

<td align="center"><b>10 FEk</b> #{5j (b,5,1)}#%</td>

</tr>
<tr>

_32_

#(rozco) $>BE </ td>
#(ro2cl) >BKEBH</ ed>

#(r03c0) #>EH </ td>
#iro3cl) #>BREN</td>

#(r04co) #>E8 </ td>
#(r04cl) > KB H</td>

#(rosco)#>£&l,</td>
# (r0Scl)#>#EM A</ td>

# (r06ch) #>KEh</td>
#(ro6cl) #>Hk</td>

#(r07c0) $>B¥</td>
# (r07el) #>RBiF</td>



<td>T{llfE
<br><img sre="http://localhost/~diabe/fx10.png">
<img src="http://localhost/~diabe/frl0.png">%%E
<br><img sre="http://localhost/~diabe/fwl0.png">
<img src="http://localhost/~diabe/fgl0.png">HHEIE
<br><img src="http://localhost/~diabe/fql0.png">ES
<br»<img src="http://localhost/~diabe/fr10.png">B{L5
</td>
<td>
<script language="cache" runat="server">
5 a=1-({l-riskr)**0.3)*1000
s b=1-({1-baser}**0.3)*1000
d labl00
</script>
</td>
<td>
<script lanquage="cache" runat="server">
s a=riskr*1000
s b=baser*1000
d 1labl00
</script>
</td>
<td>
<script language="cache" runat="server">
s a=1-({l-riska}**0.3)*1000
s b=l~{(l-basea}**0.3)*1000
d lablosC
</script>
</td>
<td>
<script language="cache" runat="server">
s a=riska*1000
s b=basea*1000
d labl0gQ
</script>
</td>
</tr>
<tr>
<td>BERFH Y
<br>FUEHEL
</td>
<td>
<script language="cache" runat="server">
s a=l-{(l-baser}**(0.3)*1000,b=a
d lableco
</script>
</td>
<td>
<script language="cache" runat="server">
s a=baser*1000,b=a
d 1abl00
</script>
</td>
<td>
<script language="cache" runat="server">
s a=1-{{l-basea)**0.3)*1000,b=a
d 1abl00
</script>
</td>
<td>
<script language="cache" runat="server”>
s a=basea*1000,b=a
d 1abl00
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</script>
</td>
</tr>
<tr>

<td>PERFAHE L

<br>MUEIE L
</td>
<td>
<script language="cache” runat="server">
s a=1-({1-0.04)**0.3)*1000, b=a
d 1abiog
</script>
</td>
<td>
<script language="cache" runat="server">
s a=0.04*1000,b=a
d labl00
</script>
</td>
<td>
<script lanquage="cache” runat="server">
s a=1-((1-0.044)**0.3)*1000,b=a
d labloo
</script>
</td>
<td>
<script language="cache" runat="server">
3 a=0.044*1000, b=a
d labl00
</script>
</td>
</tr>
</table>
<script language="cache" runat="server">’
goto labS99
:1abl00 ;
5 a=a¥l,b=b¥l
if a<0 {s a=0}
if a>1000 {s a=1000}
if b<0 {s b=0}
if b>1000 {s b=1000)
&HTML< <table cellspacing="0" cellpadding="0"> >
s c=0
f [ if ¢'<1000 quit
if c#100=0 {
if (a'>ci&a(b'>c) {
&HTML< <tr><td colspan=10>
<img src="http://localhost/~diabe/fwl00.png"></td></tr> >
s c=c+100
} elseif (a'<(c+l00))&(b'<{c+100)) {
&§HTML< <tr><td colspan=10>
<img src="http://localhost/~diabe/fx100.png"></td></tr> >
s c=c+100
} elseif (a'>cla(b'<{c+100}) {
&HTML< <tr><td colspan=10>
<img src="http://localhost/~diabe/£fgl00.png"></td></tr> >
s c=c+100
} elseif {a'<({c+100})&(b'>c) {
EHTML< <tr><td colspan=10>
<img src="http://localhost/~diabe/frl00.png"></td></tr> >
s c=c+100
} else {
if (a'<(ct+10))&(b'<{c+l0}) {
&HTML< <tr><td><img src="http://localhost/~diabe/fx10.png"></td> >
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5 ¢c=c+10 ‘
} elseif {a'>ec)&i{b'>c) |
&HTML< <tr><td><img arc="http://localhost/~diabe/fwll.png"></td> >
s c=c+10
} elseif (a'»c)&{b'<{c+1i0)) [
&HTML< <tr><td><img.src="http://localhost/~diabe/fgl0.png"></td> >
s c=c+10
} elseif {a'<{c+l0})&(b'>e) |
GHTML< <tr><td><img src="http://localhost/~diabe/frl0.png"></td> >
: s c=c+10
} else {
sHTML< <td><table cellspacing="0" cellpadding="0"> >
if {(a'>c)&s{b'>c) |
&HTML< <tr><td><img src="http://localhost/~diabe/fw00.png"></td></tr>
3 c=c+l
} elseif (a>c)&{b>c) |
&HTML< <tr><td><img src="http://localhost/~diabe/fx00.png"></td></tr>
s c=c+1
} elseif (a'>cla(b>c) |
&HTML< <tr><td><img sre="http://localhost/~diabe/fg00.png"></td></tr>
3 c=c+l
} elseif (a>c)ea(b'>c) |
&HTML< <tr><td><img src="http://localhost/~diabe/fr00.png"></td></tr>
5 c=c+l
} else {3 c=c+l}
}
}
} elseif c#10=0 { ; & c#100'=0
if (a'<{ec+10))e(b'<(c+10)) |
&HTML<  <td><img src="http://localhost/~diabe/fx10.png"></td> >
5 c=c+10
} elseif (a'>c)e(b'>c) {
&HTML< <td><img src="http://localhost/~diabe/fwl0.png"></td> >
5 c=c+10
} elseif (a'>c)&a(b'<{c+10}) {
&HTML< <td><img src="http://localhost/~diabe/fgl0.png"></td> >
s c=c+10
} elseif (a'<(c+1l0))&(b'>c) |
&HTML< <td><img src="http://localhost/~diabe/frl0.png"></td> >
5 c=c+10
} else {
&HTML< <td><table cellspacing="0" cellpadding="0"> >
if (a'>c)&a{b'>c) {
&HTML< <tr><td><img src="http://localhost/~diabe/fw00.png"></td></tr>
5 c=Cc+l
} elseif {a>c)e&(b>c) |
&HTML< <tr><td><img src="http://localhost/~diabe/fx00.png"></td></tr>
3 c=c+l
} elseif (a'>c)&{b>c) {
&HTML< <tr><td><img src="http://localhost/~diabe/fg00.png"></td></tr>
3 c=c+l
} elseif (a>c)a(b'>ec) |
&HTML< <tr><td><img src="http://localhost/~diabe/fr00.png"></td></tr>
5 c=c+l
} else {s c=c+1}
} .
if c#100=0 {
&§HTML< </tr> >
}
} else { ;c#10'=0
if (a'>cl&ib'>c) |
&HTML< <tr><td>»<img src="http://localhost/~diabe/fwl# (c#10)#. png">
</td></tr> >
s c=c+l
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} elseif (a>c)e&(b>c) {
&HTML< <tr>»<td»<img src="http://localhost/~diabe/fx0#(c#10)#.png">
</td></tr> >
s c=c+l
} elseif {(a'>»c)&(b>c) {
&HTML< <tr><td>»<img src="http://localhost/~diabe/fq0# (c#10}#.png">
</td></tr> >
s c=c+l
} elseif {(a>ci&(b'>c) {
§HTML< <tr»<td><img src="http://localhost/~diabe/fri#{c#l0}#.png">
</td></tr> >
s c=c+l
} else {5 c=c+l}
if c#10=0 {
&HTML< </table></td> >
}
}
}

&HTML< </table> >
q

:1ab99%% ;
</script>
</form>

</body>

</html>
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